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Question Number : 1 Question Id : 6232177422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

[f there 1s unrest 1n the college, the main reason may be

Options:



Management
1.

System of education

2.

Teacher
]
P Student

Question Number : 2 Question Id : 6232177423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Students like the teacher most because he
Options:

1 Gives more marks

Maintains student discipline
z.

Shows concern about students

Avoids meeting the students
4,

Question Number : 3 Question Id : 6232177424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A teacher can prevent the fluctuations of attention of the students in the classroom by
Options:

. Reprimanding them

Using proper stimulus
2.



_ Implementing rules strictly

Repeating the important points
4,

Question Number : 4 Question Id : 6232177425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Teacher should correct the work done by the students by following one of the techniques

Options:

I11 treatment

) Pass and ftail

Good relationship
B

Bad Aftect

4.

Question Number : 5 Question Id : 6232177426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Over — motivation by teacher in the class room leads to
Options:

1 I1] treatment

Good environment
2.

Good relationship
o

Bad Aftect



Question Number : 6 Question Id : 6232177427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
‘Achievement Motivation’ can be influenced mostly by

Options:

. Reinforcement by teacher
, Environment
_ Teaching — learning material

Self — Evaluation by student

4

Question Number : 7 Question Id : 6232177428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A teacher can 1dentify a disabled with the help of
Options:

Who 1s affected by the environment

Who may not be atfected by the environment
2.

Who 1s well with the other people

3

Who 1s equally competent with others
4,

Question Number : 8 Question Id : 6232177429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The full form of ‘ITEP’ 1s

Options:



Integrated Teacher Education Programme

Intensive Teacher Education Programme
_ Inclusive Teacher Education Programme

In-service Teacher Education Programme

Question Number : 9 Question Id : 6232177430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

If a teacher wish to improve his classroom teaching well, he should better involve?

Options:

Personal Activity
1.

School programmes
2.

Governmental Activities
=,

Action Research

Question Number : 10 Question Id : 6232177431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The following 1s not a measure of dispersion
Options:

Standard deviation
1.

Variance
=z,



Quartile deviation
=

; Mean

Question Number : 11 Question Id : 6232177432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
An appropriate source to find out descriptive information 1s
Options:

. Directory
Bibliography

Encyclopaedia

Dictionary
4,

Question Number : 12 Question Id : 6232177433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The term ** Control Group™ 1s used 1n
Options:

Historical research

Experimental research
i

Survey research
=

Descriptive research
4,



Question Number : 13 Question Id : 6232177434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following 1s not related to plagiarism
Options:

Academic dishonesty
1.

Branch of Journalistic ethics
2.

Stealing and publication of another author
o

, Self-citations

Question Number : 14 Question Id : 6232177435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

As sample size mcreases the following 1s true

Options:

. Sampling error increases

Sampling error decreases
2.

Non sampling error decreases
>,

Level of significance increases
4

Question Number : 15 Question Id : 6232177436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The tull form ot APA 1n citation 1s

Options:



American psychological Association
1.

American Philosophical Association
z.

All people Alphabets

3

American Pedagogical Association
4.

Question Number : 16 Question Id : 6232177437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Scaling method 1s used to measure

Options:

Quantitative variables
1.

] Attributes

Associations

Relations
4

Question Number : 17 Question Id : 6232177438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The data collected from records 1s called
Options:

Census data
1.



Primary data

2

Secondary data

&

Field data

Question Number : 18 Question Id : 6232177439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The Null hypothesis contains
Options:

. Population parameter

Sample statistic
i

Sampling distribution
=t

Estimator
4.

Sub-Section Number: 2
Sub-Section 1d: 623217248
Question Shuffling Allowed : Yes

Question Id : 6232177440 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (19to 27)
Juestion Label - Comprehension



Read the following passage and answer the questions given:

From the 1920s onwards, we also find an increasingly active engagement of
women in the freedom struggle. Much has been said — and with justice — about the co-
option of women’s struggle for subjectivity into the nationalist agenda. Yet our analysis
would remaimn simplistic if we do not admit that the increasing active participation of
women in these nation — wide movements was changing the parameters of man-woman
relationship both within the movement and in society in general in subtle and indirect
ways. It was also making dents in the ideological boundaries within which the
consciousness of the middle class woman traditionally operated. The experience of
participating in the Non-cooperation Movement and courting arrest involved a
perception of oneself that did not tally with traditionally — constructed self — umages.
Then again when women, in their contact with armed revolutionaries, graduated from
the role of giving shelter and hiding arms to that of participating in or even leading
armed action, they had to breach very stiff barriers of conventional behaviour. There
15 no doubt that the strategies of the armed revolutionaries imposed severe control over
women’s sexually and that the ultimate leadership in armed struggle remained with the
men. Yet it cannot be denied that this participation demanded that women should create
new roles for themselves and in doing so should transgress norms of gender and class
relationship. This process became more pronounced when women joined mass-

movements organized by the Leftist forces.

Sub questions

Question Number : 19 Question Id : 6232177441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

What was the turning point in our Freedom Movement from 1920s?

Options:

1 Withdrawal of women from the Movement

Passive role of women 1n the Movement

. Increasingly active engagement of women



Conflict between men and women
4.

Question Number : 20 Question Id : 6232177442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What was the option of women 1in those times?
Options:

Subjectivity into the national agenda
1

Mere observation of the movement
=

Supporting men from home’
=]

, Non —nterfering attitude

Question Number : 21 Question Id : 6232177443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Why were the parameters of man — woman relationship changed
Options:

1 Imposition of British culture on Indian society

Women’s opposition to male domination
z.

] Increase 1n the rate of women’s education

, Active participation of women in the Movement

Question Number : 22 Question Id : 6232177444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The 1deological boundaries of the middle class women of 1920s were

Options:



. Steadfast

. Moditied

. Dangerous

) Strengthened

Question Number : 23 Question Id : 6232177445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
| What were the reasons for transformation of traditionally constructed self-image of women?
Options:

Women’s active participation in the freedom struggle

1

. Women taking part in Non-cooperation Movement’

Women courting arrest and going to jail
3.

All of the other options

4

Question Number : 24 Question Id : 6232177446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Why did women breach stiff barriers of convention?
Options:

To lead armed action

To discourage the male activists and revolutionaries
2

To disconnect themselves from the Movement



To control their sexuality
4.

Question Number : 25 Question Id : 6232177447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

How did the men revolutionaries keep the ultimate leadership in armed struggle with
them?

Options:

By restricting women to household chores
1

, By sending women to educational institutes
. By encouraging them to learn handicratts

By imposing severe control over women’s sexuality
4,

Question Number : 26 Question Id : 6232177448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What did women do 1n order to create new roles for themselves?
Options:

Trained their children to be patriotic
1.

Abided by the norms of society

2

Transgressed gender and class
=

Honed their skills

4

Question Number : 27 Question Id : 6232177449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



To further their role in armed revolution, women joined mass movements organized by

Options:

1 Mahatma Gandhi

Leftists

2

Arya Samaj
=,

Azad Hind Fauy

Sub-Section Number: 3
Sub-Section I d: 623217249
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 6232177450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

One of the following 1s not related to the areas of Johar1t Window’s interpersonal

communication.
Options:

1 Hidden Area

y Known Area

] Blind Area

; Unknown Area

Question Number : 29 Question Id : 6232177451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O



The questioning device of communication “who says what in which channel to whom

with what effect?”. Suggested by
Options:

. Herald Laswell

, Herald Lasky

_ George Gerbene

Herbert spencer
.

Question Number : 30 Question Id : 6232177452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The purpose of the freedom in communication results in
Options:

1 Authority
; Reduction

. Control

) Demotivation

Question Number : 31 Question Id : 6232177453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Computer Assisted Instruction (CAI) 1s based on one of the following principle.

Options:

1 Classical conditioning

Sender conditioning
2



Operant conditioning
=

Respondent conditioning
4.

Question Number : 32 Question Id : 6232177454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Berlo’s model of communication has the following four elements

Options:

. Source, message, noise, barrier

Source, message, channel, receiver
2.

Source. channel. receiver. feedback
=,

Source. receiver, message. medium
4.

Question Number : 33 Question Id : 6232177455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Community radio comes under
Options:

1 Instructional Media
Social Media

=z,

. Mass Media

: Digital Media

Question Number : 34 Question Id : 6232177456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



‘Diorama’ 1s an extension of the following
Options:

1 Four Dimension

Uni — Dimension
=z,

] Two — Dimension

) Three — Dimension

Question Number : 35 Question Id : 6232177457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In a ‘Dyad” communication. the number of persons involved are

Options:

-

1 D

4

2

t_hn

Question Number : 36 Question Id : 6232177458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

‘Hermeneutics™ 1s a branch of knowledge. whose main role of the teacher 1s to
Options:

1 Teach the philosophy of behaviour

, Interprets the meanings of codes



_ Indicates the process of communication

Announces political statements
4,

Question Number : 37 Question Id : 6232177459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The number that comes next in the sequence 4. 60, 212 1s

Options:

339

%)
s
N

Question Number : 38 Question Id : 6232177460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

i - . B sk snd
Identify the missing number in the sequence 33 500, g, . 60.
Options:
. 0

45
z.

3

46—
3 O

33
4.

Question Number : 39 Question Id : 6232177461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which term comes next in the sequence YEB. VHG, SKL. PNQ. ?

Options:

MQV

1.

MOR

2.

ROS

3.

SQT

4.

Question Number : 40 Question Id : 6232177462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A man purchased 20 watches for a cost of X200 and sold them for I300. What 1s the

percentage of profit he got?

Options:

50

1

40
z.

= 60

100

4.

Question Number : 41 Question Id : 6232177463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If x:y=3:4, then(5x+3y):@x+7y)=

Options:

11:8
1.



2.

27 - 40
=

40 : 27
4

Question Number : 42 Question Id : 6232177464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The average marks of 23 students 1s 45 and the average marks of another 27 students

1s 55. Then the average marks of all the students put together 1s

Options:

50
1.

50.4
z.

48
>,

48.

rh

Question Number : 43 Question Id : 6232177465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The difference between the compound interest and the simple interest on a certain sum

for two years at the same interest rate 8% per annum 1s 64. Then the sum 1s 1n rupees

Options:

. 15,000
_ 12,000

_ 10,000



8.000
4,

Question Number : 44 Question Id : 6232177466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In a certain code 4523 1s written as 5476 and 2871 1s written as 7128. Then the code

for 2018 1s
Options:

. 7198l

9001
z.
7901

5798

Question Number : 45 Question Id : 6232177467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A train passes a pole of height 3 meters in 10 seconds and a platform of 130 meters

long in 36 seconds. Then the speed of the train in km/h 1s

Options:

23

18

Sub-Section Number : 4
Sub-Section I1d: 623217250
Question Shuffling Allowed : No



Question Number : 46 Question Id : 6232177468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which word does not belong with the other?
Options:

, Congar

) Leopard

. Elephant

Lion
4,

Question Number : 47 Question Id : 6232177469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The word in the bottom row one related in the same way as the words in the top row.
For each item find the word that completes the bottom row of words
Candle, Lamp. Flood light

Hut, Cottage,

Options:

1 Tent
City’
2.

. Dwelling

House
4,

Question Number : 48 Question Id : 6232177470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



In the following a statement 1s given. The statement 1s followed by two conclusions.
Identify which of the given conclusions logically follows:
Statement:  Some actors are singers. All the singers are dancers.
Conclusions : 1. Some actors are dancers
2. No singer is actor

Options:

. Only (1) conclusion follows

) Only (2) conclusion follows

. Both (1) and (2) follows
, Neither (1) nor (2) follows

Question Number : 49 Question Id : 6232177471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In the following series. you will be looking a pattern. Fill the blank in the series.

SCD, TEF, UGH, WKL,

Options:

. CMN

UJI

2.

\A|

ar

T

4.

Question Number : 50 Question Id : 6232177472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



In the following series, vou will be looking pattern. Fill the blank 1n the series.

BCB, DED. FGF. HIH
Options:

JKJ

1.

HJH

i

. 1l

JHI

4.

Question Number : 51 Question Id : 6232177473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Here are some words translated from an artificial language:
Hepllesh means cloudburst
Srenchoch means pinball
Resbosrench mean minepin

Which word could mean Clonalnine?
Options:

1 Leshsrench

) Haplresho

Haploch

3

, Ochhapl.

Question Number : 52 Question Id : 6232177474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



If the day after the day after tomorrow 1s four days before Monday. What day 1s it

today?

Options:

Tuesday
i

) Wednesday
] Thursday

) Monday

Question Number : 53 Question Id : 6232177475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Rama is younger than Rao

Raju was born after Rama

If the above two statements are true. then which the following statement 1s correct?
Options:

. Rao 1s older than Raju

_ Rama 1s older than Raju

Both Rao and Rama are older than Raju
=

None of the other options
4,

Question Number : 54 Question Id : 6232177476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Knowledge based on memory 1s known as

Options:



Direct perception
.,

Indirect perception
2.

. Inference

Analogy
4

Question Number : 55 Question Id : 6232177477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

mformation answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eyes
JTanuary 4 6 6
February 6 2 8
March 6 4 1
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8

The total number of successtul operations performed during the months having 31 days

of the given period is
Options:

37
1 o

48

z.



Question Number : 56 Question Id : 6232177478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

information answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eves
January 4 6 6
February 6 2 8
March 6 4 4
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8
The percentage of successful operations from January to April of the year 2019
Options:
; 40
, 00.5
5 62.5
. 04

Question Number : 57 Question Id : 6232177479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

information answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eyes
January 4 6 6
February 6 2 8
March 6 4 4
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8

If there are 50 more operations left to be performed. then how many operations must

be successful in order to make the overall percentage of successful operations to 60?
Options:

, 42

Lad
(]

Question Number : 58 Question Id : 6232177480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following figure carefully and answer the question given below. In the

figure O represents the students studying Mathematics, represents the students

studying Physics and|  |represents the students studying Chemistry.

3y

Students who study Mathematics and Physics only are represented by

Options:

C

> E

Question Number : 59 Question Id : 6232177481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Study the following figure carefully and answer the question given below. In the

figure O represents the students studying Mathematics, represents the students

studying Physics and[  |represents the students studying Chemistry.

A

2 L

Students who study Chemistry only are represented by



Options:

1 B.GDandF

Dand F
2.
3_ C.D.EandF

i D.E and F

Question Number : 60 Question Id : 6232177482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure carefully and answer the question given below. In the

= SEm : 3
figure (_J ) represents the students studying Mathematics, represents the students
studying Physics and represents the students studying Chemistry.

/”fT'\H
[ =] |
N 8 S

Students who study all the three subjects, i.e., Mathematics, Physics and Chemistry

Options:

1 C. Dand F
5 Band C
. CandF

C

4.

Question Number : 61 Question Id : 6232177483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%. B — Paper cost 25% C — Binding cost 20%. D — Royalty 15%
E — Promotion cost 10%, F — Transportation cost.
If for a certain type of books, the publisher has to pay 24000 rupees towards Royalty,

then the amount to be paid towards the transportation is in rupees.
Options:

. 16000

, 12000

10500
3.

16800
4

Question Number : 62 Question Id : 6232177484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%, B — Paper cost 25% C — Binding cost 20%. D — Royalty 15%
E — Promotion cost 10%, F — Transportation cost.
The angle of the sector corresponding to the expenditure incurred on the binding cost,

is in degrees.
Options:

1. 36

48
2

Question Number : 63 Question Id : 6232177485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%, B — Paper cost 25% C — Binding cost 20%, D — Rovalty 15%
E — promotion cost 10%, F — Transportation cost.

If for a certain edition of a book, the paper cost in rupees 55000, then the expenditure
involved for the printing and the transportation together is in rupees

Options:

, 50000

66000
2

. 45000

38750
4.

Sub-Section Number: 5
Sub-Section 1d: 623217251
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 6232177486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following pollutants (s) can cause cancer in humans.
Options:

, Mercury

Lead
2|



- Ozone

. Pesticides

Question Number : 65 Question Id : 6232177487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which year Biosphere reserve project was initiated in India?

Options:

, 1986

, 1984
1989
3

1985
4,

Question Number : 66 Question Id : 6232177488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Phytoplanktons are the members of

Options:

Grass land ecosystem
8

, Forest ecosystem
; Aquatic ecosystem

, Desert ecosystem

Question Number : 67 Question Id : 6232177489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Photosphere is described as the

Options:



. Lower layer of atmosphere

Wave length of solar spectrum

- Visible surface of the sun from which radiation emanates

Global warming

Question Number : 68 Question Id : 6232177490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The earthquake waves which have transverse movements are known as
Options:

. Secondary waves

5 Tidal waves

. Primary waves

J Surface waves

Question Number : 69 Question Id : 6232177491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A lunar eclipse occurs when.

Options:

3 Sun. Moon and Earth are not in the same line
. Earth comes between the Sun and the Moon
. Moon comes between the Sun and the Earth

Sun comes between the Earth and the Moon
4,



Question Number : 70 Question Id : 6232177492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
“Joy water fall” is located in
Options:

Karnataka

5 Kerala

: Andhra Pradesh

n Maharashtra

Question Number : 71 Question Id : 6232177493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The central pollution Board was established under the following Act in India.
Options:

; Water (Prevention and control of pollution) Act, 1974
; Air (Prevention and control of pollution) Act. 1981
- Urban area (Prevention and control of pollution) Act. 1976

, Noise pollution (Regulations and control) Act. 2013

Question Number : 72 Question Id : 6232177494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
According to Andhra Pradesh government sand mining policy announced on

4™ September 2019. the stock yards are operated by.
Options:

, APMDC

, APPCB



. CREDAI

. AP Green Tribunal

Question Number : 73 Question Id : 6232177495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The full form of FTP is
Options:

, File Transaction Protocol
5 File Truncation Protocol

y File Transfer Protocol

File Transfer Processing
4

Question Number : 74 Question Id : 6232177496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

With regard to computer memory which of the following statement (s) is/are true.
(1) ROM is volatile memory
(i1) RAM is volatile memory
(111) Secondary memory is volatile

Options:

1 (1) only

) (11) only

. Both (1) and (i1)

; (1) and (i11) only



Question Number : 75 Question Id : 6232177497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

If binary equivalent of the decimal number 48 is 110000, then the binary equivalent
of decimal numbers 51 i1s

Options:

. 110010

110011
2

, 110001

110100
4.

Question Number : 76 Question Id : 6232177498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following is not open source software?
Options:

1 Internet explorer

, Open office
] Fedora Linux

, Apache HTTP server

Question Number : 77 Question Id : 6232177499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Firewall in computers is used for

Options:

Security
1

X Data transmission



3 Authentication

y Monitoring

Question Number : 78 Question Id : 6232177500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
IC chips for computer are made of
Options:

, Silver

. Aluminium
- Silicon

. Steel

Question Number : 79 Question Id : 6232177501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
The following protect computer system from hackers.
Options:
Antivirus
1.

, Backup
; Hard disk

Firewall

Question Number : 80 Question Id : 6232177502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

“IT for mass™ is a plan scheme.

Options:



. Department of electronics and information technology
o University grants commission

. MHRD

; AICT

Question Number : 81 Question Id : 6232177503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The full form of NPTEL is

Options:
g National Programme on Technology Enhanced [earning

, National Programme on Technology Enforced Learning

National Project for Technology Enhanced Learning
=

National Project for Technology Enforced Learning
4

Question Number : 82 Question Id : 6232177504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The first Open University was set up in the State of

Options:

. New Delhi

, Arunachal Pradesh

3_ Tamil Nadu

Andhra Pradesh
4,



Question Number : 83 Question Id : 6232177505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
During Vedic period the students who studied in Gurukula lived in

Options:
s Ashram

. Gur’s house

Parents’ home
]

2 Forest

Question Number : 84 Question Id : 6232177506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The concept of ‘Smritimana’ given by Yagva-Valkya was based on the principle of
Options:

Accuracy
1.

" Purity

. Yagna

3 Memorization

Question Number : 85 Question Id : 6232177507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The Buddhist Education was offered in

Options:

: Home

Sanghas
Z.

Ashramas
o



, Congregation

Question Number : 86 Question Id : 6232177508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In an Open University one of the system of evaluation will be

Options:

. Formal Assessment

Summative evaluation
=

- Self — evaluation

i Formative evaluation

Question Number : 87 Question Id : 6232177509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

‘Build school in every village’ was propagated by
Options:

1 Robert De Nobilli

- St Xavier

5 St. Thoinas

Robert Clive
4,

Question Number : 88 Question Id : 6232177510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An illiterate and ignorant nation can never make any solid progress and must fall back
in the race for life” said by

Options:

1 M.K. Gandhi



, Sarvepalli Radhakrishnan

: G.K. Gokhale

. Raja Ram Mohan Roy

Question Number : 89 Question Id : 6232177511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The original meaning of *Vandemataram’ sung by students in the schools is
Options:

, Long live the King
. King is the God
. King and God are alive

’ God save the King

Question Number : 90 Question Id : 6232177512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

‘Shikshak Samakhya® (Teacher Empowerment) was initiated and first began in the

state of Madhya Pradesh by UNICEF emphases on

Options:

. Teacher effectiveness

Teachers’ creativity
2:

Teacher autonomy
3

Teachers’ creativity and Teacher autonomy
4
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Question Number : 91 Question Id : 6232177513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A language that has a significant, contrastive, but relative pitch on each syllable is a
Options:

. Pitch language
Stress language

Tone language

Intonational language
4.

Question Number : 92 Question Id : 6232177514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

[nlisa

Options:
Voiced Velar Nasal

Voiced Palatal Nasal
Voiced Retroflex Nasal

Voiced Uvular Nasal



Question Number : 93 Question Id : 6232177515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The terms ‘Restricted Code’, and ‘Elaborated Code’ are associated with
Options:

William Labov

; Peter Trudgill

; Dell Hymes

Basil Bernstein

Question Number : 94 Question Id : 6232177516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Rasmus Rask is associated with
Options:

N Laryngeal Theory

First Germanic Sound Shift

Second Germanic Sound Shift

Nostratic Hypothesis

Question Number : 95 Question Id : 6232177517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Rules that look like phonological rules, but operate in particular morphological contexts are

Options:
Recursive rules

Morphophonemic rules

Bleeding rules



Restrictive rules

Question Number : 96 Question Id : 6232177518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The assumption made in Glottochronology is
Options:

The rate of change is variable
1,

The rate of retention is variable

The rate of borrowing is constant

The rate of retention is constant

Question Number : 97 Question Id : 6232177519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Languages that are predominantly VO in their main clause constituent order tend to have
Options:

Postnominal relative clauses

Prenominal relative clauses

No relative clauses at all

Both pre- and postnominal relative clauses

Question Number : 98 Question Id : 6232177520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Alzheimer’s disease is due to
Options:

Schizophrenia

Subcortical dementia



Cortical dementia

Aphasia
4.

Question Number : 99 Question Id : 6232177521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The principle that in child language acquisition linguistic structures will emerge only if there is a
cognitive foundation was stated by

Options:
Noam Chomsky

5 Jean Piaget

Roman Jakobson

David Palermo

Question Number : 100 Question Id : 6232177522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Relexification is a theory that tries to explain

Options:

1 The emergence of daughter languages from the parent language

X The similarities between daughter languages

The structural similarities between various pidgins

The impact of a donor language on the recipient language

Question Number : 101 Question Id ;: 6232177523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Cardinal Vowels were devised by

Options:



Henry Sweet
Daniel Jones

Peter Ladefoged

David Abercrombie

Question Number : 102 Question Id : 6232177524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In English, after an initial s- only /p/ occurs, but /b/ never does. The explanation is

Options:

. Inthis position, /p/, and /b/ are in free variation.

/p/, and /b/ are in complementary distribution there
- There is an overlapping between /p/ and /b/ in this position

The contrast between /p/ and /b/ is neutralized here.

Question Number : 103 Question Id ;: 6232177525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
One of the following is true of an Incorporating language.

Options:
There are hardly any inflections

Segmentation of morphs is very easy and clear

. One word in this language includes what is expressed in one sentence in other languages

, There are no or very few derivational suffixes

Question Number : 104 Question Id : 6232177526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Bloomfield was influenced by
Options:
Cognitivism

Tagmemics

5 Behaviorism

Functional grammar

Question Number : 105 Question Id : 6232177527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Amplitude is related to

Options:
Degree of loudness of a sound

Duration of a vowel

Laxness of a vowel

. Intonation

Question Number : 106 Question Id : 6232177528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Analogy is said to produce

Options:

; Irregular forms

Regular forms

Cognates

Superfluous forms
4



Question Number : 107 Question Id : 6232177529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

‘Drive-driver’, ‘sing-singer’ are possible, but not ‘cook-cooker’ in the same sense. This is due to

Options:
Analogy
Blocking

- Conversion

Phonotactic constraints

Question Number : 108 Question Id : 6232177530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Which of the following is a performative utterance?
Options:

Thou shalt not kill ( a priest to a devotee)

Your dinner is ready! (wife to husband)

| now pronounce you husbhand and wife ( said in church by a pastor)

Tomorrow is Sunday ( a boy to his friend )

Question Number : 109 Question Id : 6232177531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If someone pronounces /film/as [ fx1lem], thisis a case of

Options:
Anaptyxis

Aphaeresis

Metathesis



, Epithesis

Question Number : 110 Question Id : 6232177532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
------------------ is determined by and relevant to syntax.

Options:

, Derivation
Morphology

. Inflection
Semantics

Question Number : 111 Question Id : 6232177533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If phonemes and allophones are unambiguously mapped on to each other in a phonemic

description, then it is
Options:
Taxonomic

Biunique

Bimodal

. Coextensive

Question Number : 112 Question Id : 6232177534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
------------- are indicative of special relationship between two subgroups of a language family.

Options:

Common Innovations



Common Inheritances
Common borrowings

Common phonology

Question Number : 113 Question Id : 6232177535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The concept of linguistic sign was proposed by
Options:

Noam Chomsky

5 Ferdinand de Saussure

. C.F. Hockett

Leonard Bloomfield

Question Number : 114 Question Id : 6232177536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In a model of test, words are deleted from a reading passage at certain intervals leaving blanks.

Such a test is called
Options:

Performance test

Diagnostic test

5 Cloze test

Proficiency test

Question Number : 115 Question Id : 6232177537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The symbol for “ unrounded half-open back vowel” is



Options:

a]

;121
o [l
4. [CE]

Question Number : 116 Question Id : 6232177538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
In Distinctive feature theory, an opposition in which one member is marked by a feature which the
opposite member lacks is called

Options:

5 Isolated opposition

5 Privative opposition

. Equipollent opposition
4. Proportional opposition

Question Number : 117 Question Id : 6232177539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A Spaniel is a kind of dog. So, spaniel is a ---------------- of dog.

Options:
' Synonym

. Hyponym

. Meronym

Philonym



Question Number : 118 Question Id : 6232177540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Speech Act theory is associated with
Options:

Dell Hymes
5 John Gumperz

J.L. Austin
3

4 William Labov

Question Number : 119 Question Id : 6232177541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The ability to say false or fictional things is called

Options:
Displacement

Duality
Arbitrariness
&
; Prevarication

Question Number : 120 Question Id : 6232177542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Sonorants include

Options:
Nasals, vowels, glides

, Vowels, Glides, liquids, Nasals

. Nasals, liquids, glides



Vowels, glides

Question Number : 121 Question Id : 6232177543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
‘to boycott’ comes from the name of Captain Charles Cunningham Boycott. This is a/an
Options:
Meronym

Exonym

= Eponym

; Metanym

Question Number : 122 Question Id : 6232177544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If the Target text expresses additional details that are not explicitly conveyed in the Source text, the

translation is called

Options:

1 Exegetic translation
Ethnographic translation

. Communicative translation

Content translation

Question Number : 123 Question 1d : 6232177545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Aphaeresis is sound change in which
Options:

A word-initial consonant is lost

5 A word-final vowel is lost



2 A word-initial vowel is added

i A word-initial vowel is lost

Question Number : 124 Question Id : 6232177546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The consonants produced with the air trapped in the oral cavity between a closed glottis and a

supra-glottal constriction, and the larynx being elevated are called

Options:

Clicks
1.

5 Obstruents

] Ejectives

Implosives

Question Number : 125 Question 1d : 6232177547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

‘Was’ realizes the morphemes {be}, {singular}, and {past tense} at once. A morph that realizes more
than one morpheme is known as

Options:

Unique morph

Portmanteau morph
Suppletive morph

Replacive morph

Question Number : 126 Question Id : 6232177548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In a language, the voiceless stops become aspirated at the beginning of the word, and voiced stops
lose their voice at the end of the word. If the word for ‘rain’ in this language is pinteb, the word for
‘snow’ is pintuk, and the word for ‘soil’ is spunt, their phonetic transcriptions would be



Options:

1 [phznteb], [p"Intuk ], [ spunt]

, [ptzntep], [pPzntuk], [spiunt]
[plzntep], [pPIntuk], [ spunt]

, [p"1ntep], [p"1ntug], [ spund)

Question Number : 127 Question Id : 6232177549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In Generative grammar, the process which reorders maximal projections internally within clauses,
moving them further to the front of the clause is labeled

Options:

; Relativization

Stacking

, Scrambling

i Raising

Question Number : 128 Question Id : 6232177550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In Sociolinguistic research, the technique of eliciting from informants only their reactions to the

form of speech, but not to the content is called
Options:

Participant observation technique

, Matched-guise technique

Cross-over technique
2.

Stratification technique



Question Number : 129 Question Id : 6232177551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Rise-rose-risen is an illustration of

Options:
. Ablaut
Umlaut

First Germanic sound shift

Analogy
4

Question Number : 130 Question Id : 6232177552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Choose the right example for a cleft sentence
Options:

1 What, John get a job?
Let’s you guys shut up, all right?

. It's money that | love

Steal my money, will you!

Question Number : 131 Question Id : 6232177553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The allomorphs of the { PAST } morpheme in the examples missed, sounded, played, counted are

Options:

. =% -1d, -d, -xd
—d, -ed, -id, -ed

2,

—ed, -ed, -ed, -ed



—d, -ed, -d, -ed

Question Number : 132 Question Id : 6232177554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
SPEAKING as a model of describing a communicative event was proposed by

Options:
Charles Ferguson

Dell Hymes

H P Grice

Michael Halliday

Question Number : 133 Question Id : 6232177555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Observer’s Paradox means
Options:

] That the researcher’s presence causes the informants to be conscious of their speech

That the researcher is undecided about the course of his research
That the observers are unaware of the research

That researcher fails to follow the proper methodology

Question Number : 134 Question Id : 6232177556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If one thing is entailed by another thing, it is a case of

Options:

Synonymy

Homonymy



Polysemy

, Hyponymy

Question Number : 135 Question Id : 6232177557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Sounds that are [ + anterior, -- coronal ] are
Options:

: Palatals

Alveolars

- Labials

. Dentals

Question Number : 136 Question Id : 6232177558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A Polar Interrogative is one which
Options:
Seeks confirmation from the listener

Expects either ‘yes’ or 'no’ as an answer

] Seeks explanation from the listener

Expects ‘'no’ as an answer

Question Number : 137 Question Id : 6232177559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Variations in melody, rhythm, and tone of voice are acquired by children

Options:

;. Within the first six months



5 Towards the end of the first year

] During the second year

During the third year
4.

Question Number : 138 Question Id : 6232177560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
‘Argot’ is
Options:

. A jargon used by thieves
A jargon used by detectives

A jargon used by professionals

A jargon used in the navy

Question Number : 139 Question Id : 6232177561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which of the following statements is right?

Options:

Oral vowels imply nasal vowels

, Nasal vowels imply oral vowels

Voiceless consonants imply aspirated consonants

Nasals imply glides

Question Number : 140 Question Id : 6232177562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Jack C. Richards, a Central-design syllabus is



Options:

, La nguage-based

Activity-based

Needs-based

All of the other options
4.

Question Number : 141 Question Id : 6232177563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The opposition between ‘large’ and ‘small’ is a case of

Options:
Binary opposition

, Taxonomic opposition

Polar opposition

Relative opposition

Question Number : 142 Question Id : 6232177564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
If someone pronounces ‘library’ as /laibri/, it is a case of
Options:

Haplology
Epenthesis
Truncation

Syncretism

Question Number : 143 Question Id ;: 6232177565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
Which of the following is a diglossic situation?

Options:

1 Telugu and Urdu in Hyderabad

Katharevousa and Dhimotiki in Greece

Bokmal and Ranamal in Norway

’ English and French in Canada

Question Number : 144 Question 1d : 6232177566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A type of compound in which the second member is derived from a verbal affix, or is a past

participle is a/an
Options:
Analytic compound

5 Root compound

Synthetic compound

Exocentric compound

Question Number : 145 Question Id : 6232177567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In GB theory, structures which do not allow any constituent to be extracted from them are called

Options:
Complex NPs
Complex VPs

Islands



Terminal forms

Question Number : 146 Question Id : 6232177568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Latin arbore ‘tree’ changed to Spanish arbol ‘tree’. This change is an example of
Options:

Haplology
Dissimilation

Lenition
=,

Assimilation

Question Number : 147 Question Id ;: 6232177569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What are -um-, and -in- inthe following data from Tagalog?

sulat ‘write’, s.um.ulat ‘wrote’, s.in.ulat ‘was written’

Options:
Interfix

. Prefix

.y Infix
Circumfix

Question Number : 148 Question Id : 6232177570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What is kith in kith and kin?
Options:

Empty morph



; Unique morph

; Portmanteau morph

Zero morph

Question Number : 149 Question Id : 6232177571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Clicks are made with--------------- airstream mechanism
Options:
; Glottalic egressive

Velaric ingressive
Pulmonic ingressive

Velaric egressive

Question Number : 150 Question Id : 6232177572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Buy and sell are
Options:
Antonyms

Hyponyms
Relational opposites

Polar opposites

Question Number : 151 Question Id : 6232177573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Languages with fixed word order and hierarchical constituent structure are known as



Options:
Configurational languages

Analytic languages
Synthetic languages

Incorporating languages

Question Number : 152 Question Id : 6232177574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If the subject of an intransitive verb and the direct object of a transitive verb are treated alike, it is

Options:
Inchoative

Ditransitive

Essive

Ergative

Question Number : 153 Question Id : 6232177575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
|dentify the Natural class from the options given below.

Options:

. w,r, 8, 5,3
p,tkfs, §

v,Z, ¥; 0, B

b,d,g,x, a

Question Number : 154 Question Id : 6232177576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

In m fine, the ‘m is a/an

Options:

. Particle

. Suffix

- Proclitic
Enclitic

Question Number : 155 Question Id : 6232177577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The four Conversational maxims were proposed by

Options:

H.P. Grice

B. Malinowski

J. Searle

J.L. Austin

Question Number : 156 Question Id : 6232177578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Who said ‘sound changes have no exception’?
Options:

Structural linguists

Neogrammarians
2,

Generative semanticists



Generative grammarians

Question Number : 157 Question Id : 6232177579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
English words cannot begin with sequences like kn-, ps-, tl-, di-. This restriction is because of

Options:

Syllabic restrictions

Pronunciation difficulties

Phonotactics

Morphemic constraints

Question Number : 158 Question Id : 6232177580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The rarest of the six Constituent order types is

Options:
. VSO
, VOS
. OSV
. OVS

Question Number : 159 Question Id : 6232177581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Lenition means
Options:

. Changeof /r/to /1/

Deletion of /| /



5 Weakening

Strengthening

Question Number : 160 Question Id : 6232177582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
If A becomes B either between X and Y, or between XZ and Y, or between X and #, or between XZ
and #, this situation can be captured by the rule

Options:
. A SB/XZ-{Y}#
o
A—-B/X(Z)--
_A-B/X@-{,

A—B/X(Z{Y} #)

L AB/X{ZH(Y)#

Question Number : 161 Question Id : 6232177583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The change of k — sin electric vs electricity is a case of

Options:

, Assimilation

5 Palatalization

Fronti
_ Fronting

Velar softening

Question Number : 162 Question Id : 6232177584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The languages with VO Constituent order correlate with

Options:



Relative Clause + Noun
Verb + Negative
Sentence- initial question word

Standard + Comparative adjective

Question Number : 163 Question Id : 6232177585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The construction ‘my parents’ friend’s house’ is
Options:

Right branching

; Left branching

A synthetic compound

An exocentric compound

Question Number : 164 Question Id : 6232177586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The first dialect survey in proper methods of dialect geography was done by
Options:

Hans Kurath

Bh. Krishnamurti

2
; Georg Wenker
’ Jules Gillieron

Question Number : 165 Question Id : 6232177587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
Vowels are generally produced between ----------- and ------------- regions

Options:
Alveolar, palatal

Palatal, velar

Dental, velar

Alveolar, velar

Question Number : 166 Question Id : 6232177588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The first proponent of Binarism in Distinctive features was
Options:

s Trubetzkoy

Morris Halle
3

Roman Jakobson

Noam Chomsky

Question Number : 167 Question Id : 6232177589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
‘Calgque’ means

Options:

New coinage
B,

Loan shift

Loan translation



Loan extension
4

Question Number : 168 Question Id : 6232177590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
A linguistic variable to which no social import is attached is called
Options:

1 Independent variable

o Marker

3 Social variable

Indicator

Question Number : 169 Question Id : 6232177591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Old English hros changed to Modern English horse. This is a case of

Options:
Epenthesis

Metathesis

Metanalysis

. Epithesis

Question Number : 170 Question Id : 6232177592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If a rule creates new environments for a second rule, both of them are in
Options:

, Extrinsic ordering

Intrinsic ordering



. Bleeding ordering

, Feeding ordering

Question Number : 171 Question Id : 6232177593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
In Language teaching washback means
Options:

. The reversal of progress made by the learner

The act of beginning again from the basics
. The effect of teaching methods on learning

; The impact of a test on the teaching or learning

Question Number : 172 Question Id : 6232177594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The earlier forms spin-span-spun have become spin-spun-spun in Modern English. This is a case of
Options:

Analogy

Neutralization
Syncretism

. Synthesis

Question Number : 173 Question Id : 6232177595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In German, hand ‘hand’, butin pluralitis hdnde [hende ]. This change is a result of
Options:

1 Umlaut



. Ablaut

Merger

Haplology

Question Number : 174 Question Id : 6232177596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Felicity Conditions are those conditions which
Options:
Facilitate ease of communication

Are required for a speech act to be successful

Must be followed in a piece of conversation

Must be observed when a speaker delivers a speech

Question Number : 175 Question Id ;: 6232177597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The e approach sees phonology as comprising several tiers each tier with a linear
arrangement of elements which are linked together by association lines.

Options:

1 Metrical phonology

Autosegmental phonology

Geometric phonology

Lexical phonology

Question Number : 176 Question Id : 6232177598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
If the first language gradually comes to be replaced by the second language, it is a case of



Options:

Additive bilingualism

Subtractive bilingualism

. Compound bilingualism

) Co-ordinate hilingualism

Question Number : 177 Question Id ;: 6232177599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Structure Dependence means

Options:

1 Structure depends on meaning

Meaning depends on structure

2.
Syntactic rules are context-sensitive
3.
Syntactic rules are category-based
4

Question Number : 178 Question Id : 6232177600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Exocentric constructions are
Options:

. Double headed

Left-headed

Unheaded

Right-headed



Question Number : 179 Question Id : 6232177601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the French words plat (masc.), platte ( Fem ) the difference between them is considered to be

Options:
A zero morph

- Areplacive morph

. A subtractive morph

An empty morph

Question Number : 180 Question Id : 6232177602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In a linguistic area
Options:
Languages show cognates or similar words
Languages show similar structural traits

Languages show similar phonology

Languages happen to be of the same language family



